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1 T EIRA i ~ £ EJCT 76.200 83,000 92% 47,100 55400 85% 29,100 27,600 105%
2 BAR FEA BE~EATHE 66,200 72,400 91% 46,900 52,600 89% 19,300 19,800 97%
3 BAR FEA BHE~SFILRT—F 58,100 62,400 93% 39,100 42,900 91% 19,000 19,500 97%
4 BAR FIASEA I % ~ B EICT 46,100 45,500 101% 17,900 19,900 90% 28.200 25,600 110%
5 EHME EIAGEME RS @Eg £ HERJICT 105,300 108,200 97% 55,200 68,700 80% 50,100 39,500 127%
6 BAR E23HAR AR~ T 58500 63,700 92% 46,300 50,400 92% 12,200 13:300 92%
2 1T B2 —EmUCT~EETE 64,500 66,200 97% 38.400 41000 94% 26,100 25,200 104%
8 I R By K22~ 39,400 41,300 95% 18,600 21,200 88% 20,800 20,100 103%
9 e R . — 39,900 40,800 98% 23,100 24,800 93% 16,800 16,000 105%
10 e R E R —— 15,200 15,900 96% 11,400 12,600 90% 3.800 3,300 115%
11 Iz B2 12 CIEEEBIRE HERF ~ TIBEEAE 17.000 17,300 98% 11,100 12,300 90% 5,900 5,000 118%
12 =ER EIAFEVERE HEEE s 78,900 80,400 98% 37.000 40,800 91% 41,900 39,600 106%
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19 BANE 5E iR FEZEH 43,100 43,800 98% FZ AV icEEREREL: U
20 BHE 6EEA - B AT 55,000 56,400 98%
21 BHE NEMEiR MR- L 50.900 50,700 100%
22 EHR 165—=8% —B- B 61500 55,000 110%
ZEREE £t 52,400 52,900 99%
hRE K 54,000 55,800 97%




